











































What is the principal valueof cos Ceos2 sin Csin2T

Given
cos cog231 sin sin

we know that the principal branch for us is

o it and for sin it is f Iz Iz

cos cos231 sin sin231

2ft sin Sin T 251 231 IT 231 IT
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This is between E it

free
21g is not in f Iz T

we subtract it from it to

bring sin in E E EI

Evaluate cos150 Sini50

sin750 costsI
lost5 as750 sink siniso

notice it is of
the farm
cosAcosB sinAsinB

cos 50 750 Cos900 0 cos ATB

Prove that tan I't I AI Ewise

where Ex E 1

well this is easy Let's start with the LHS
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Time
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Time
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ItanE tanta B
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YI Ez Otoe 341

41 Le wi k RHS

Hence proved

Prove that y 4,7 0 is an increasing function

on o E
This basically means we need to show dy
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This is the this is the
cos0 is 4 in

Coro 4 coso
OE it

in OEfoai
as 2

0

This is the because

thus our function is increasing
squared

find the principal value of tan B see e z

Range of tin is f LI ZI
Range of see is o it E3

ooo tan Fg see C2
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Iz it I YI zig
see
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Prove that cos sin 3 cot E
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Write the principal value of tant Es cot Gfs

Principalbranch of Ian is C II Iz
at is f E Iz O

tan B ut Ers wt Cn

tan IanIg fi WE Cra IT cot Ca
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write the value of tan 2 sin 2wife
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tan 1 2 sin 2x as Las III
tan 2 sin x II
tan 2 sing tan 2 BE
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4
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solve cos tank sin cot

us tank sin sin Thesolutionassumes

or as tan n Is
that we are

operating in the

on tan a wit't principal branch

or tan a tant 2e for all functions

or ne 3
4

If tant n Ian y ay 21 then write the valueof
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tan ne tanty Ie
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or tant CN 2 Uta 1 K12 n 4
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or Nt 8
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Prove the following
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If we ta t cost f L prove that
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If tan naif tan Cath YI find the valueof a
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Find the value sinfastgettan 2g
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